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Puzzle FunPuzzle Fun

from 8 years from 8 years 

Captain K has
forgotten his
cape. Can you
show him the
way?

Captain K is completely enamoured
by the aroma of Kaiserschmarrn.
How many pieces of
Kaiserschmarrn does he have to
eat to keep his strength up until
he reaches the pot?

4 + 12( )

Captain K has rescued a child in a tree. He wants to go
back to his best friend. His best friend is not
standing next to the boy in the red shirt and
stretching at least one arm in the air. His best friend
is not standing on the edge and touching 
the boy in the green shirt. Who is it?

Can you help Captain K to put the
horse back together properly?
Enter the correct order of the
individual parts from back to
front:

11
22

33

44

55

Captain K is really stressed today. His superhero help
is needed at every turn. How many more missions

does he have ahead of him? Look out for the speech
bubbles!




